
TD –    OPERATIONS SOUS FORME ALGEBRIQUE  

 

 
 

−1 + 3𝑖

3 + 𝑖
=

(−1 + 3𝑖)(3 − 𝑖)

(3 + 𝑖)(3 − 𝑖)
 

 

=
−3 + 𝑖 + 9𝑖 − 3𝑖²

32 + 1²
 

 

=
−3 + 10𝑖 + 3

10
 

 

=
10 𝑖

10
 = 𝑖 

 

 

1

2 − 𝑖
=

1 × (2 + 𝑖)

(2 − 𝑖)(2 + 𝑖)
 

 

=
2 + 𝑖

22 + (−1)²
 

 

=
2 + 𝑖

5
 

 

=
2 

5
+

1 

5
𝑖 = 0,4 + 0,2 𝑖  

 

 

1

−0,5 + 0,5𝑖
=

1 × (−0,5 − 0,5𝑖)

(−0,5 + 0,5𝑖)(−0,5 − 0,5𝑖)
 

 

=
−0,5 − 0,5𝑖

(−0,5)2 + 0,5²
 

 

=
−0,5 − 0,5𝑖

0,5
 

 

=
−0,5 

0,5
−

0,5 

0,5
𝑖 = −1 −  𝑖  

 

 

 
 

10 + 10𝑖

5 + 5𝑖
=

2 (5 + 5𝑖)

(5 + 5𝑖)
= 2 

 
On peut aussi faire une division classique 
pour finalement arriver sur le même 
résultat. 

𝒛𝑨

𝒛𝑩
= ? 

𝒛𝑨 = −𝟏 + 𝟑𝒊               𝒛𝑩 = 𝟑 + 𝒊 

𝒛𝑨 =  𝟏                         𝒛𝑩 =   𝟐 − 𝒊 

𝒛𝑨 = 𝟏

=                             

𝒛𝑨 =  𝟏𝟎 + 𝟏𝟎𝒊                   𝒛𝑩 = 𝟓 + 𝟓𝒊 

𝒛𝑨

𝒛𝑩
= ? 

𝒛𝑨

𝒛𝑩
= ? 

𝒛𝑨

𝒛𝑩
= ? 

𝒛𝑩 =  −𝟎, 𝟓 + 𝟎, 𝟓𝒊

=                             



 

 
 

−6 − 2𝑖

2𝑖
=

(−6 − 2𝑖) × (−2𝑖)

2𝑖 × (−2𝑖)
 

 

=
12𝑖 + 4𝑖²

4
 

 

=
−4 + 12𝑖

4
 

 

= −
4

4
+

12 

4
𝑖 = −1 + 3𝑖 

 

 
 

 
1

𝑖
=

1 × (−𝑖)

𝑖 × (−𝑖)
 

 

=
−𝑖

1
 

 
= −𝑖 

 
 

 
 

 
 
 
 

 

 
 

𝑖 (1 + 𝑖) = 𝑖 + 𝑖2 = −1 + 𝑖 

 
 

 
 
 

𝑖

(1 + 𝑖)
=

𝑖 × (1 − 𝑖)

(1 + 𝑖)(1 − 𝑖)
 

 

=
𝑖 − 𝑖²

12 + 1²
 

 

=
𝑖 − (−1)

2
 

 

=
1

2
+

1 

2
𝑖 = 0,5 + 0,5𝑖 

 

 

𝒛𝑨 = −𝟔 − 𝟐𝒊                 𝒛𝑩 = 𝟐𝒊 

𝒛𝑨 = 𝟏                            𝒛𝑩 = 𝒊 

𝒛𝑨 =  𝒊                           𝒛𝑩 = 𝟏 + 𝒊 

𝒛𝑨

𝒛𝑩
= ? 

𝒛𝑨

𝒛𝑩
= ? 

𝒛𝑨 ×  𝒛𝑩 = ? 

𝒛𝑨 = 𝒊                            𝒛𝑩 = 𝟏 + 𝒊 

𝒛𝑨

𝒛𝑩
= ? 


